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Question Number : 1 Question Id : 7512365281 Question Type: MCQ Option Shufilingy: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following lists:

List-1 Teist il
A) Triticum I Atlacardiaceae
B) Lycopersicon Iy ,“rabaceae
C) Mangifera NB  Poaceae
D) Glycine max IV)  Liliaceae

V) Solanaceae
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Question Number : 2 Question Id : 7512365282 Question Type: MCQ Option Shuf lmg Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical [

Assertion (A) : The six kingdom classification ptof) Gsed by Carl Woese included
Bacteria, Archaebacteria, Protista, Hangi, Plantae and Animalia.
Reason (R) : Carl Woese divided six kjngd@nﬁ,mto 2 domains using 16s tIRNA.

‘E‘:.' ~ . A I
cFebdagel 0T 20 Sk Jjuwwpf.-, & :,_rvu((Call\Voese)U:'JJb/ (A) $

...L'.WUL‘ j‘UL"[L

i;_,fl’,-f“‘“ * ;w ,wyf,L:fp;'.J_’./Ub:“fb’lés IRNA .6 '-(R)ui'jf

The correct answer 1s
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Options:

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
c =l (A) (R)UE =sU A (R)2I(A)

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
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(A) 1s true but (R) 1s false.
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Question Number : 3 Question Id : 7512365283 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Match the following :

List-1 List - 11
A) Sutton and Boveri I Identification of Auxins
B) F.W. Went II)  Artificial syntlesis of the gene
C) Hargovind Khorana II) Role of chrdimosome in heredity
D) V.S. Rama Das IV) Discovern\of)zymase

V)  Contributigh in C, photosynthesis
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Question Number : 4 Question Id : 7512365284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fusion between one large, non-motile female gamete and a~smaller. motile gamete 1s
called
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Question Number : 5 Question Id : 7512365285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Small specialised roots called coralloid roots are associated with N,-fixing
cyanobacteria in
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Question Number : 6 Question Id : 7512365286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following in order of their occurrence (from top to bottom) in the regions
of the root tip

L Region of maturation

IL. Region of elongation

[II. Region of meristematic activity

IV. Root cap region
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Question Number : 7 Question Id : 7512365287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists:

List -1 List-1I
A)  Cypsella I Jack fruit
B) Schizocarpic 1)) Tridax
C)  Caryopsis II) Rice
D)  Composite fruit IV)  Acacia
AT DI
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Question Number : 8 Question Id : 7512365288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A): In Calotropis, the aestivation is said to be valvate.
Reason (R): Here the sepals or petals m a whorl just touch one another at the
margin without overlapping.
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The correct answer 1s
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Both (A) and (R) are true, (R) is the correct explanation of (A).
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Question Number : 9 Question Id : 7512365289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A): In flowering plants, both male and female flowers may be present on
the same i1ndividual. called “dioecious™ or present on separate
individuals, called “monoecious”.

Reason (R): In flowering plants, the unisexual male flower 1s staminate, 1.e.,

bearing stamens. while the female 1s pistillate, 1.e., bearing pistils.
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Both (A) and (R) are true and (R) 1s the Cmect explanatmu of (A).
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Both (A) and (R) are true but (1\; 1§ not the correct explanation of (A).
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Question Number : 10 Question Id : 7512365290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A typical angiosperm embryo sac, at maturity, 1s

Options:
T-nucleate 8-celled
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Question Number : 11 Question Id : 7512365291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orienvation : Vertical

In which of the following plants, hydrophily 1s a common phenomenon
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Water lily
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Question Number : 12 Question Id : 7512365292 Question Type: MCQ Optlcn huﬂllng Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
v \

Identify the correct combination of the plant \a.yfi’tifi;ﬂle"famjly it belongs to
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Gloriosa superba - Llllacem
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Lycopersicon esculentum - Fabaceae
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Aloe vera - Fabaceae
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Question Number : 13 Question Id : 7512365293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The floral formula Br, Brl, %, 1;;\ » Kisy»Craaray Ay1,G;  belongs to

"k - qu Brl‘! ?’)61 i\ ) K{S}acl-t-zﬂ'z)aA(';lﬁl ,G!_ ,--l.e"{-" EJ."{
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Solanum nigrum

Pisum sativim

Allium cepa
*l{rxflﬂl

3.

Withania sommifera
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Question Number : 14 Question Id : 7512365294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :

List -1 List - 11
A)  Amyloplasts I) Colour less plastids of varied shapes. sizes
with stored nutrients
B)  Elaioplasts 1) Store proteins
C) Aleuroplasts II)  Store carbohydrates (Starch)
D)  Leucoplasts IV)  Store oils and fats

V)  Store carotene and xanthophylls
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Question Number : 15 Question Id : 7512365295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the following biomolecule :
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The above biomolecule 1s
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Question Number : 16 Question Id : 7512365296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct combination of statements.

2 During leptotene, chromosomes become gradually visible.

II. Nuclear membrane and nucleolus do not reappear in Telophase I of Meiosis .

IOI.  Anaphase II does not begin with simultaneous splitting of the centromere of
each chromosome in Meiosis II.

IV.  Prophase I is characterised by appearance of bivalent chromosomes as tetrads

1n Meiosis L.
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Question Number : 17 Question Id : 7512365297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following cell-type 1s not dead at maturity i angiosperms?
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Question Number : 18 Question Id : 7512365298=Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oriertation : Vertical

Assertion (A): In monocotyiedons, vascular bundles do not form secondary tissues.
Reason (R) : In monocotyledones, cambium is absent in vascular bundles.
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Both (A) and (R) are true, (R) 1s the correct explanation of (A).
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Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
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ﬂ_.u,(R)u- - & (A)

3

(A)1s f“IlSE' but (R) 1s true.
_...'_._, (R) ‘_ler(&)

Question Number : 19 Question Id : 7512365299 Question Type\: Mf,Q Optlon Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : VHthLl

Assertion (A):‘Adaptation” for copu R ,th environmental extremes is defined as any
attribute of the orgami$m (morphological, physiological, behavioural)
that enables it to 3111%1?&3 and reproduce 1n its habitat.

Reason (R) : Plant adaptatjgns.iave evolved over a short evolutionary time and are
due to changes that occur in genetic material during acclimatisation.
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The correct answer 1s
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Both (A) and (R) are true, (R) 1s the correct explanation of (A).

-

i.l‘_..*wli::.—ﬂ;d (A) <«(R). L,Tf}*._,l,n_:(R);J'(A)

Both (A) and (R) are true but (R) 1 1*3 not the correct explanation of (A).
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e 8 R sk (A)

Question Number : 20 Question Id : 7512365300 Question Type/. l\/Ik‘(";'Q'Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify a combination of ecological adptations in xerophytes.
Cuticle 1s totally absent. |

Hypostomatous and sunkef® g%;b;«lnata in some plants.
Root caps are usually alfsent.

Well developed root €aps. /

sl

'"U'/L.JJ 'L—a""c j-?."-—r"..‘ J“H]Z_J;JE’ "U"V LJ"'./J

- ’-'-f L(Cuticle) JZ ) |
|" L’“.t_’-ﬂ T:.I'.J._JJ 'J Ia'r‘ Ir.-'" rlu.. L{f_g’i-_g !'.-"‘:}.J

The correct pair 1s
e I s

Options:



[and IT

T 1
1.

IT and IIT

]I[ ..f_:!l H
i

I and TV

IV . II0
2.

ITand IV

IV o 10
4

Question Number : 21 Question Id : 7512365301 Question Type: MCOQ/Optich Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Arrange the following i the pathway of wate{ movement in the root.

Cortex
Epidermis
Pericycle
Endodermis
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The correct answer 1s
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Question Number : 22 Question Id : 7512365302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Potassium ion (K7) performs which of the following functions in plants?

It 1s mvolved in protein synthesis.

II. It helps in photolysis of water during photosynthesis.
IMI.  Essential for the formation of chlorophyll.

IV. Maintains anion-cation balance.

V. Required for pollen germination.
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Question Number : 23 Question Id : 7512365303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): Glucose + ATP —Hiexokinase o oce 6 Phosphate + ADP

Reason (R) : Enzyme which catalyzes this reaction belongs to enzyme class

“Transferase”.
!dk ) ' : n .'b. o 6. = * I;K r:"—:{.,z I )K - "—k 'Hfi
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The correct answer 1s
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Both (A) and (R) are tz ue gR) 1s the correct explanation of (A).
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Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
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(A) is false but (R) 1s true.
«--‘—u (R)uu._al»(%)

Question Number : 24 Question Id : 7512365304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following co-factor 1s required for splitting of water in oxygen evolving
complex associated with the PS II in green plants during photosynthesis?
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Question Number : 25 Question Id : 7512365385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): C, plants show greater productivity of biomass than C; plants.
Reason (R): Leaves of C, plants have “Kranz anatomy” where bundle sheath cells
lack Rubisco enzyme. As a result, C, plants lack photorespiration.
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The correct answer 18
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Both (A) and (R) are true, (R) 1s the correct explanation of (A).
i._f‘” Jeend (A) « (R).m;aum;(R)m(A)

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
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(A) 1s true but (R) 1s false.
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Question Number : 26 Question Id : 7512365306 Question Type: MLQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :

A)
B)
©)

D)

List - 1 List - 11

Decarboxylation I) Fumarate to malate

Hydration IT) Oxalosuccimic acid to a-ketoglutaric acid

Dehyvdration II) Formation of citrate from OAA and Acetyl
CoA

Oxidative decarboxylation IV)  Citrate to Cis-aconitic acid
V)  a-ketoglutaric acid to succinyl CoA
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Question Number : 27 Question Id : 7512365307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

With respect to oxidative phosphorylation, the correct combination of statements 1s

L Cytochrome ‘C’ oxidase complex contamns cytochromes a and a;, and two
cobalt centres.

Cytochrome “C” 1s a small mobile electron carrier protein.

Oxidation of NADH and FADH, give rise to 3 molecules of ATP.

Light energy 1s not utilized for the production of proton gradient required for
phosphorylation.
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Question Number : 28 Question Id : 7512365308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ethylene is a simple gaseous plant growth regulator.

Identify in which of the following the ethylene is synthesized in large amounts by
tissues?

L Senescence
II. Ripening of fruits
II.  Actively growing apices of stems and roots

IV.  Cell division promoting activity
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Question Number : 29 Question Id : 7512365309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists :
List-1 List - 11
A)  Photoautotroph

I Xanthomonas
B)  Photoheterotroph )  Rhodopseudomonas
C) Saprophyte II)  Bacillus
IV)

D) Parasite Chlorobium

- .
a2 L | o T
&8 ) }"'ﬁut 3

| S L aier
Jtr#l ([ Ui (A
Jlieeaiy, (O A zdd (B
A @ TP (o
S\ Vs 2z (D

The correct match 1s
P IR A PIE

Options:

A ® © @
,Iv. I I IR

A B (© @D
IV O m I

(A (B) © @M
. I m I I

A B © O



Question Number : 30 Question Id : 7512365310 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Match the following lists :
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A) I) Lambda phage
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Question Number : 31 Question Id : 7512365311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a Mendel’s dihybrid cross, homozygous, dominant, round. yellow seed parent was
crossed with a homozygous recessive wrinkled green seed parent. If the round seed
shape (R) 1s dominant over wrinkle seed shape (r) and yellow seed colour (Y) 1s
domimant over green seed colour (y), what 1s the expected percentage of obtaming F,
progeny with wrinkled yellow seeds m the F, population m the dihybrid cross? No
linkage 1s there between the two genes.
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Question Number : 32 Question Id : 7512365312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following trait was not studied by Mendel in his work?
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Question Number : 33 Question Id : 7512365313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Crieqtation : Vertical



With respect to DNA synthesis, identify the correct combination of statements.

E

= =

Always the direction of DNA polymerisation 1s 5' — 3' when referring to the
polarity of strand being synthesized.

DNA ligase forms hydrogen bonds between two newly synthesized DNA
strands.

DNA polymerases on their own cannot initiate the process of replication.
DNA polymerase can catalyse polymerization in both 5' — 3' and 3' — &'
direction.
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Question Number : 34 Question Id : 7512365314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists :

List-1 List - 11
A)  Erwin Chargaff I) Transforming principle
B) Frederick Griffith )  Nuclemn
C) Alfred Hershey III) Ratio between A and T and that between
G and C are constant, each equals one
D)  Colin MacLeod IV) Biochemical nature of transforming
principle

V) DNA as the genetic material that 1s passed
from virus to bacteria
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Question Number : 35 Question Id : 7512365315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): The structural gene in a transcription unit can be said to be
monocistronic or polycistronic.

Reason (R) : In eukaryotes, the monocistronic structural gene has interrupted
coding sequence - but the genes in eukaryotes split. The coding
sequence or expressed sequences are defined as exons. Exons are said
to be those sequence that appear in mature or processed RNA
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Both (A) and (R) are tm:. (R) 1S the correct explanation of (A).
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(A) is false but (R) 1s true.
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Question Number : 36 Question Id : 7512365316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): Restriction endonucleases cut the DNA molecule at specific sites.
Reason (R): Exonucleases remove nucleotides from the ends of the DNA like that
of endonucleases.
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Question Number : 37 Question Id : 7512365317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A cloning vector should possess which of the following characters?

Origin of replication (Or1).

Ability to destroy the alien DNA.
Cloning site to link the alien DNA.
The tumor inducing plasmid Ti.
Selectable marker.

Low molecular weight.

<< A"

e
¥
g
(.,.

_,

Juﬂuh Lk
(ori) 1&g F
= MdL A DNA L;’””

A BFE L bl DNA 57 o

The correct combination 1s
.._.;4"; =y

Options:
LI IV, Vand VI
VI I VAV I« 1

I III. V and VI
NL sl N L < ]

[LIIL 1T and IV
IV II « O 1

IT. III. TV and VI
VI IV « I <10

Ti etk dtsd s
‘ /I_J'L“__,,G' PJEJ
L;,'J:uL»Lr’{

"g;

Eh;—.‘L

4 4



Question Number : 38 Question Id : 7512365318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): Bt transgenic crops are more tolerant to abiotic stresses.
Reason (R) : Bt toxins are coded by 'cry' genes.
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The correct answer 1s
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Options:
Both (A) and (R) are true, (R) 1s the correct explanation of (A).
ce el (A) R4 EUMR) (A

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
e Heobnern (&) (R IR AA)

(A) 1s true but (R) is false.
e MR G ()

=
(A)1s false but (R) 1s true.
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Question Number : 39 Question Id : 7512365319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match

the following :
List-1

A)
B)
C)
D)

Pusa Swarnim
Pusa Shubhra
Pusa Sadabahar

Himgiri

The correct match 1s

I e

Options:

(A)
II
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B ©

List-1I

SBE”

Chilly mosaic virus
Bacterial blight
White rust

Black rot

V)  Hill bunt
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Question Number : 40 Question Id : 7512365320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Silencing of a specific mRNA due to a complementary short RNA sequence that
binds to and prevents translation of the mRNA is called
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Options:

RNA hybridization
S/61Esn S RNA

RNA complementation

71§ RNA

RNA interference

=140 RNA

RNA splicing
[J% € RNA

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S): Species 1s a breeding unit.
Reason (R) : A species is reproductively isolated from the individuals of the other

species.
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Question Number : 42 Question Id : 7512365322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The diversity within a particular area, community or ecosystem 1s called
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Alpha diversity
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Beta diversity
2.
Gamma diversity
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3.
Delta diversity
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Question Number : 43 Question Id : 7512365323 Question Type/. MC& Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set -1 Set - 1I
A) Acoelomate i Earth worm
B) Pseudocoelomate 1)  Acorn worm
C) Schizocoelomate II) Tape worm
D) Enterocoelomate IV) Round worm
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Question Number : 44 Question Id : 7512365324 Question Type: MCQ Ogpticnshuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set-1 Set -
A) Astrocytes I) Niexement of cerebrospinal fluid
B) Ependymal cells 1) Myelin sheath around axons of CNS
) Oligodendrocytes HI)/ ™~ Myelin sheath around axons of PNS
D) Shwann cells Vy  Formation of blood - brain barrier
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Question Number : 45 Question Id : 7512365325 Question Type: MCQ Ogtian'€huffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements with referencg to €mdaria.
A First metazoans to exhibit tissue lex®el efganisation.

w

Contain stinging cells called colloblasts.

e Reproduce only by sexual repsaduaction.
D. Development 1s indirect awd/includes planula larva.
-5_‘ .lnt L/ & F‘—" o~ L * ot | = n
S Sh et Cs U S 19L_Cnidaria
o - 4 .ﬁ‘._?( ‘”ﬁ. be .08
0Oy 7 L:C._; iu L2t (metazoans) (.7 e A
g i - ~ * L - 3
bl 2 sk B
T 5
iu:L)uPur[?j{JJ.;H_- C
2 w(planula larva) s 0d_lsd_ A (3 2 SLale “l.»‘b,n,J ] D
-t & st (planula larva) el 7 Qan e Oatl1¥ s s .
Options:
A &C
1.



A&D

B&D

Question Number : 46 Question Id : 7512365326 Question Type: MCQ Option Shuffling: Yes Display Question Number

Single Line Question Option : No Option Orientation : Vertical

Match the following:

A)
B)
C)
D)

Set -1

Tornaria
Brachiolaria
Pentacrinoid
Auricularia

The correct match 1s
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Neometra
Balanoglossus
Holothuria
Pentaceros
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Question Number : 47 Question Id : 7512365327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following characters:

a. Aquatic (marine and fresh water) forms
b Body scaleless

G, Cartilaginous endoskeleton

d Renal portal system absent
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Cephalochordata
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Question Number : 48 Question Id : 7512365328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set - I Set - II
A)  Chelonia I) Sphenodon
B) Rhynchocephalia II)  Hemidactvius
C)  Crocodilia II) Testudo
D) Squamata IV)  Gavialis
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| O L uii
G (1 LI sh. (A
TS @ esds B
2 AR WENEF  (C
S v (e FDu& (D

The correct match 1s
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Question Number : 49 Question Id : 7512365329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The communication tubules of flagella which connect the basal granule to plasma
membrane and nucleus which can pull and alter the orientation of flagellum are

71 .;_:b'; Vilk S (basal granule) /s (-1 % (tubules) {l__. bt by a3 L (flagella) £+

-~ -
|

s , AN ﬁ :
U4 & o orientation & fixgellum 0

e
i
-t

Options:
Dynein arms

&
J I O

=
b
-

Triplets

Doublets
4 B

-

L

Rootlets

E ff: (root lets)



Question Number : 50 Question Id : 7512365330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

List-1 List - IT
A) Binary fission D Unfavourable condition
B) Multiple fission II)  Nuclear reorganisation
C) Sexual reproduction II) Favourable condition
D)  Conjugation IV)  Genetic recombination
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Question Number : 51 Question Id : 7512365331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

List -1 List - II
A) Parasitic Castration I) Abnormal increase in the size of the host
cells

B)  Neoplasia Increase in the number of cells of the host
C)  Hyperplasia

D)  Hypertrophy

Degeneration of gonads of the host
Abnormal division of the cells m the host

SB8

tissues leading to cancer
V)  Abnormal increase i the size of the host
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Question Number : 52 Question Id : 7512365332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The process of “exflagellation” occurs in which one of the following stages of the life
cycle of plasmodium?
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Question Number : 53 Question Id : 7512365333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The tranquilizer which 1s normally used as a medicine to treat mental illnesses and
often abused 1s
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Barbiturate
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Amphetamine
& 1
L u&“‘: |
Z.

Lysergic acid diethylamide
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Question Number : 54 Question Id : 7512365334 Queﬂion,,TypefaM CQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Veruta!

In Periplaneta americana, there/ y?z‘e three pairs of jointed walking legs, one pair
attached to each thoracic SE‘E]“JHT on the ventral side. Each leg is made up of five
segments or podomeres artzhged serially. Identify the sequence of arrangement of
podomeres from the base to the tip.
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Tibia = tarsus = trochanter = coxa = femur
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Coxa —= trochanter = fenmr — tibia = tarsus
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Question Number : 55 Question Id : 7512365335 Question Type: MCQ Option Shiffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The principal muscles of respiration in cockroagh aré
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Options:

Ventral longitudinal museles
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Dorsoventral muscles

Alary muscles
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Abductor muscles
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Question Number : 56 Question Id : 7512365336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S): The image formed in nocturnal insects is called superposition image.
Reason (R) : The superposition image is a clear image.
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The correct answer 1s
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Both (S) and (R) are C{mect and (R)1s the correct explanation to (S).
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Both (S) and (R) are correct out (R) 1s not correct explanation to (S).
~f—uf'7jf f}‘u (S) « (RJ;“’w uuf“(R)ﬂ'(S)
2
(S) 1s correct but (R) 1s not correct.
T ®RFeE (5)
3
(S) 15 110t correct but (R} 1S correct.
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Statement (S):The water flea Dap/hnia exhibits characteristic head shapes during
various seasons.

Reason (R): Cyclomorphosis 1s a seasonal adaptation to changing densities of
water in the fresh water lakes.
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Options:

Both (S) *md (R) are correct and (R) 1s correct explanation to (S).
e EIES (S) R BUInR)A(S)

Both (S) and (R) are correct but (R) 1¢ 119. ‘correct explanation to (S).
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(S) 1s cnuect but (R) 15 111{*01‘1 ﬂct

e T R C (55 “
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(S) 15 111{:01‘1 ect but (R) 1S correct.
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Identify the correct statements with reference to special adaptation to aquatic habitat.
A.  Fresh water fishes have large glomerular kidneys and salt absorbing chloride
cells i gills.

B. Marine fishes have large glomerular kidneys and salt excreting chloride cells
i gills.

C.  Marine fishes have aglomerular kidneys and salt secreting chloride cells in
aills.

D.  Fresh water fishes have aglomerular kidneys and salt secreting chloride cells
m gills.

-i-l—-'-)[w"ub-fl-lr LF?LJ’JJ&!JjLLUI'f!JT

Jg‘z A

Sl Lfflf‘b."g

» .-f

- & ] =
2.1 .»_./r:.‘“c._o-:' il s/ (glomerular) /s .J_s”/r_.f e sl s S

.

bl
=) ol S Gl Al s/ (zlomemlal). a4y /’gi Blec I

-

to

tey

el

-

i 7 ¢
i dar g ;‘:"J!KLU:’_.JJJJ"J”K_.‘ s /'/jv- ‘715‘?_.;._,'3:}‘?.’ SAAT O
L) i **’F._,L{N.;.” Ay, 'ff/fuuu““ W__unf (L,LE' D

The correct answer 1s

L] )

Options:
A&B
1
A&C
2.
B&D
=3
C&D
4,

Question Number : 59 Question Id : 7512365339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct combinations.

A Ozone Layer |BAY - Blurred Vision
B. Green House effect Methane — El-nino effect
C.  Acid rain SO, - Photochemical smog
D. Eutrophication Algal blooms— Ageing of lake
i“é:.ﬁ‘tfd BLVIACYIN
sAdbiz - uv - esdus A
: it z
#'El-nino - Do - A3akes A B
C E Sl 2 les
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1
C&D
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B&D
3
A&D
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Question Number : 60 Question Id : 7512365340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following organs acts as haemopoietic organ i the foetus and

erythroclastic organ in the adult?
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Bone marrow
i..:f?

, g
e

Pancreas

A sigmoid curve 1s obtaimned when gercentage saturation of hemoglobin (Hb) with
oxygen is plotted against the POsas 1idicated below :
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If a patient who is a hypothermic with a body
temperature of 30°C, the curve shifts towards
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Curve shifts to the right side due to less affinity of Hb with oxygen.
E ”l;;ﬁ { f'”rtzrw_ L,égfﬁw.}u L3

Curve shifts m the left side due to higher affinity of 02 with hemoglobin.
_Kf..j:-_.fbu TEECTL J'C,_LE’L A "*)'g;*t. IV 1;4!:5

2.
Curve will not shift either to left or right.
. g
_NJ bel bt Loy &5
3.
Curve becomes STl‘ﬂiEh’[ line instead of sigméb:dal.
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Match the following:

Set-1 Set - II
A)  Valve of thebasius I) Gaurds left atrioventricular aperture
B) Eustachean valve 1) Gaurds the opening of coronary sinus into
right atrium
C)  Tricuspid valve III) Non functional 1 adults
D)  Bicuspid IV)  Gaurds right atrioventricular aperture
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Question Number : 63 Question Id : 7512365343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following features best suits to a healthy / normal mdividuals urine:
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Options:

Dark yellow colour; pH: 6.0; 90% H,O, 10% urea
ikt pH: 6.0 < 90% H,0 « 10% |3

Pale yellow colour: pH : 7.0: 96% H,0. 2% urea, 2% other substances

/16l « pH: 7.0 < 96% H,0 « 2% Ly ¢ 2% & sk s

No colour; pH: 6.0: 98% H,O, 2% ured, 1% glucose
—Fu pH: 6.0 < 98% HLO « 2% 0 « 1% 4%

Pale yellow colour; pH : 6.0:,'96% H,O. 2% urea, 2% other substances

=
n..-vLJLl" V2 pH 2 6.0 « 96% 41,0 « 2% Lay « 2% <ol

Question Number : 64 Question Id : 7512365344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement with reference to vomer bone:

-.G‘

_.é g i bl J b /33
Options:
It forms the bridge of the nose.
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It forms the upper jaw.

] by F
- Ok 208y

It 1s a triangular bone present on ‘rhe floor of nasal cavity.

It f011115 the ﬂnterim‘ part of the palate.

-..-q_-b_,f..- u""’ §U£ "I.JF"' JL—-:’L‘A"’

Question Number : 65 Question Id : 7512365345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

Set-1

A) Alzheimer’s Disease

B)  Meningitis

C)  Parkinson’s Disease

D)  Stroke or Cerebro-vascular IV)

Set - 1T

Inflammation of the protective membranes
covering the brain and the spinal cord.
Progressive disorder of the central nervous
system affecting motor movements.

Rapid loss of brain functions due to
disturbance 1n the blood supply to the brain.
Progressive neurologic disease of the brain

accident leading to the loss of neurons and the loss
of intellectual abilities.
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Question Number : 66 Question Id : 7512365346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the hormones that regulate calcium levels i the human body?

A Calcitonin
B. Thyroxine
g Cortisol
D. Parathyroid hormone
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The correct answer 1s
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Options:
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Match the following:
Set-1 Set - 1T
A)  Addison’s disease I) Deficiency of vasopressin
B)  Cushing’s syndrome II)  hyposecretion of glucocorticoid
C)  Myxedema II) Over production of glucocorticoids
IV) low levels of thyroid hormones i adulthood

D)  Diabetes msipidus
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Identify the correct statements about T cells.

They are CD 8 cells.

They recognize antigens through MHC class-II protein.

They recognize antigen-presenting cells and produce antibodies.
They recognize altered-self cells through MHC class-I protein.
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Identify the correct sequence of passage of spermatozoa in males.

a. Rete testis

b. Epididymis

C. Urethra

d. Vas deferens

e. Seminiferous tubules
f Vas efferentia

g Ejaculatory duct

h. Urethral meatus

A . Wy LR STIAL gt Uss Y
(Rete testis) Jg J’f a

(Epididymis) & b

(Urethra) U' % €

(Vas deferens) Sl * d
| - y
&Ly | g e
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(Vas efferentia) RS
(Ejaculatory duct) Jtt3@ g
(Urethral meamslw‘dl_x h

The correct answer is
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Options:

a—->b—od—se—sc—>f—>g—h

e»>a—>f->b—>d—>g—>c—h
2.

e>c—>a—>d—>b—-osg—>1f->h
3.

d->b—sa—>c—>tf—oe—>g—h
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Identify the diagnostic procedure used to detect genetic defects in the embryo:
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Options:
ELISA

13
Amniocentesis
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2.
Amenorrhea
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Sonography
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Match the following:

Set - 1 Set - 11
A)  Pleiotropy I) More than two alleles occur at the same
locus on homologous chromosomes
B)  Multiple alleles II) Expression of both the alleles in

hetero-zygous condition

C)  Polygenic iheritance IIT) Multiple effect of single gene

D)  Co-dominance IV) Single phenotypic character influenced by
more than two genes
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Question Number : 72 Question Id : 7512365352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

P ¥ 6’4
List-1 List- 11
[~ =rpf | Oy
Sex Index Sex of Drosophila
(u‘f’éiu'g ) (lgy,us._.sw? )
A) 1.0 I) Intersex
St
B) 15 II) Meta male
ZOR
C) 0.67 II) (Temale
1
D) (1.33 IV Male
o

V) Meta female
a.."LJ}

The correct match is
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Question Number : 73 Question Id : 7512365353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

O

Identify the correct statements with reference to sickle cell anemia:

A Due to point mutation ‘glutamic acid’ 1s replaced by ‘Valine’.

B. Due to point mutation “Valine’ is replaced by ‘glutamic acid’.

C. It 1s autosomal recessive genetic disorder and affects heterozygous
imdividuals.

D. It is autosomal recessive genetic disorder andeafferts homozygous individuals.
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Question Number : 74 Question Id : 7512365354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the geological time scale, the golden age of fishes is
_FUssl K fishes UuLg,:ﬁ;SyJ-
Options:
Tertiary period of coenozoic era

ol EEr B §F

Jurassic period of mesozoic era
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Devonian period of palaeozoic era
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Carboniferous period of paiac0zoic era
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Question Number : 75 Question Id : 7512365355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Experimental verification of natural selection was performed by
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Options:



Augustus Weismann
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U211

Paul Kammarer
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Hugo de Vries
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Bernard Kettlewell q/Q
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Identify the correct sequence of stages in the evolution of man.
Homo neanderthalensis

Homio eructus

Australopithecus

Homo sapiens

Drvopithecus
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-

....

- o 20
3 .

Options:

A->C—o>B—->E—->D

1.

CoA->3B->sE->sD
z.

E-C—>B—>A->D
=

F-5A& -5 -sB-5])
4

Question Number : 77 Question Id : 7512365357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Hisardale” is a new breed of sheep developed in Punjab by using the following
breeding technique:

-

it - r — 4 f & - "ﬂ_: -~
W Wipe 8 AL S e stditn e JELSUES e

b i

Options:



Interspecific hybridisation
2L 55 B2
St

Cross - breeding
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Out breeding
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Multiple Oﬂll’l'fiﬂll and Embryo Transfer (MIQET)
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Question Number : 78 Question Id : 7512365358 Question Type =M EQ/ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set - 1 Set - I
A)  Prolonged P-R interval I) Hypothyroidism
B) Shortened P-R interval II)  Hypokalemia
C)  Prolonged Q-T intery&l IIT) Delayed impulse from pacemaker
D) Flat T-wave IV) Tachycardia
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Question Number : 79 Question Id : 7512365359 Question Type: MCQ/Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The first gene therapy was given for the deficiency of:

Options:

Adenosine deaminase

1.
Insulin
d}r; I

=z,

c-1 Anfitripsin

S5 a-l



a.- Lactalbumin
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Question Number : 80 Question Id : 7512365360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Natural killer cells origimate from

v =k B dad =
Options:

Adipocyte stem cells

. g 1=
sty

Myeloid stem cells

I T
E e

Lymphoid stem cells

- - M
=Y

Endothelial stem cells
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Identify incorrect statement among the following.
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Options:

There are four fundamental forces in nature.
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18
Conservation laws have a deep connection with symmetries of nature.
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Question Number : 82 Question Id : 7512365362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

’ e 10 C g :
The expression for the force is given by o+~ , where " and ‘¢’ are some physical
f

quantities and ‘7’ 1s the time. Then the dimensions of ¢’ are
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Question Number : 83 Question Id : 7512365363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An object falls a distance D from rest. The object travels.a distance 0.51 D in last 2 seconds.

The time taken by the object to cover the distance D@s
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A and B are the ends of a ladder in contact with a vertical wall and the floor
respectively as shown in the figure. Let ug and v, be the velocities of B and A in
x and y direction respectively. At a time when the angle ABO is 60°, ug = 1 m/s, then

V, In n/s is
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The resultant of the two vectors A and B makes an angle o with A and p with B .

Statement (A): o< P if |Al<[B

lw=l}

Statement (B) : o < B if |A|>

Statement (C): a=pif |A=B

e b ALB B AAVE Ao ifl B s ALK
a<pif | B :(A) b
a<Pif |A|>[B] :(B)uk

o=pif ﬁ|=

Choose the correct option cb
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Options: &
A)and (C) : ;
( }al;( ) are true C)Q/

-2 (©)sl(A) @
1.,

Only (C) 1 Q/
ny; ) 1S true &%

s O (Yt

2.
(B) and (C) are true
~u§g(C)J!'(B)
=
(A), (E} (C) are all true
w3 UHV(C} #1(B) <« (A)
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A ball is thrown at some angle with the horizontal and at speed 10 m/s. The speed of
the ball at its maximum height H during the motion is 5 m/s. The magnitude of H is
(Assume g = 10 n/s?)

», P i g = = £} e O . Z

L8l H Jﬁ@gjﬁfﬁﬁ@gjbui;ﬁf*g{g&ﬂgL';,:UJ’IL}:’(/:.,;L:;J 10 m/s $%d Ll
— = i

(g=10 m/s2 .fﬂu?)qungJH F-e 5 mls

Options:
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6.5 m Q\c/))
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Question Number : 87 Question Id : 7512365367 o' Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatiol tical

A man weighs 70 kg. He s@ml a weighing machine in a lift, which is moving
downwards with a uniform acceleration of 5 ms=2. The reading in the weighing
machine is

(Assume g = 10 m/s?)

d/5 1‘115_2.::.»-3-;.-&'_;5!: Lf{ﬂ..bij...gﬁr;'_!ﬂ;uﬁpdbi.:'g)};yguq{_ |-’!f|!F70Q'}3 KJ)T».{'
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Options:
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Question Number : 88 Question Id : 7512365368 Question Typt. |VICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver )

At a certain instant, an object is Sf{{l&lfj?ﬁ;‘ted to a forceF = [(4.0]f -(2.0); +{9.0)£]N
while the object’s velocity 15§ = |L (2.0)i +(4. D)A]mﬁs The mstantaneous rate at

which the force does work on the object 1s

W2 Syl b= [(4.0)i - (2.0)j +(9.0)k [N = L2 L oL
_._Lf&,:"ﬁ&b uu”if:fug.{g-r_. - Yo V= [_(2-0)F+(4-0 T]m;S
Options:
+28 W
1.
+44 W



Question Number : 89 Question Id : 7512365369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 4.0 kg bundle starts up a 30° mcline with 120 J of kinetic energy. The distance
upto which the bundle will slide up the incline, if the coefficient of kinetic friction

between the bundle and the mcline isth .15

V3

:; -
| .

i J g (i "I’.. i "D » b, ) e T
Wand e il e /) -LLJ;:JL;:J:.ULL"JJ 120 J i/ 2330° U|J-f',uj.5,:"!_/))k 4.0 4

_Ex ;‘-'/B//.J_'.f,;,' e s O Uz Lo s iy ]—@ Yl v
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Options:
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8 1m
4.

Question Number : 90 Question Id : 7512365370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A uniform circular disk of radius R is used as a simple pendulum when suspended
from a point. The time period is T, if the disk is suspended from a point on its rim.
However the time period is T, if the disk is suspended from a pivot point at r = oR

from the center, where O < a < 1. If T, = T,. then the value of o is

SN LSS AE Sl S & Lo R Badb A L3S s mult L

§77 1= oR & I O3 At e T, gunsb 1T e &2 0 (e L

*Jﬂyﬁg}/a ¥ =T, [ e Q<ms JL,'L;ZE@'ETZ L;,”,au.:ﬁ,-;ﬁ_.Lgkbft’;(pik’OI}J:Z,
Options:
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A wheel is rotating freely at an angular speed on a shaft. A second wheel with twice
the moment of inertia of the first and initially at rest, is suddenly coupled to the first
shaft. If K is the original rotational Kinetic energy and AK is the loss in rotational

kinetic energy, then% IS

’i:\

P - -? - vl ""__ -~ f . et 3 4 " L S i
SIS e e o Bt bl e s KT Lol Te B3l 23S
§ 3098760 AR e SIS SSIK S et 2 b e 230 AL (inertia) =7
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Consider a simple pendulum where a point mass “m’ is suspended from a hinge with
an insulating thin wire of length */’. Let there be point charges ‘+q" each at the hinge
and on the point mass. The time period of small oscillations about equilibrium for

this pendulum is

K e W2 5L 6L ...L:ic.,f._.;L;r*J;(‘m' =5 LU S B K sl
-~ s 2 o -t P -t 3 * . y

(equilibrium) J,-L:JL, S JILE+q sk J" @ M:&;;L&p‘ér_.; Lg*.!/ “Lf u"’/_+ ) u‘?

_gﬁgﬁ,ffJ:J&J{;'}Lﬁfi_ﬁf“ P

Options:

T > 2%

3
T<2x mi 5
mg + q_z
dre, |
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A simple pendulum has a time period T, when on the earth’s surface and T, when
taken to a height R above the earth’s surface, where R is the radius of the earth. The

value of s T is

e t‘tngLxRJLE{ﬂ.::_ig_, A i L fuf._»r_T iase P Bas Lk
el T e BOadbRU K on T, st

Options:
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Question Number : 94 Question Id : 7512365@[:@ Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

It a uniform steel wire of 4 m length and cross-sectional area 3 x 107® m?2 is extended
by 1 mm. the energy stored in the wire is

(Assume Young's modulus of the wire =2 x 10'! N/m?)

7 =
I

V1o 3 x 1070 m? A (cross-sectional) :I}Lj‘?fﬂi/ifq_ J}i”t‘f- -ﬁtﬁt’i;}’;iyt_ﬂ/‘l
AN AR T S~
(<2 x 10" N/m? modulus TRIATNZD

Options:

75 ml
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2%

0.75 ml
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Question Number : 95 Question Id : 7512365375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A hot air balloon is rising upward with acceleration 2.5 m/$. The ratio of air density
outside the balloon to that inside will be (Assume g = 10 m/¢, Neglect the mass of
balloon fabric)

- ~ i I,-* - ~ o . . r -~ B = _ e pe =
Lt QU sl d/{p)_./_.fl:r"i.%.gu}’.‘»l: J}”lj{;_! . :_',1/%;.2.:3 ny's? B [K'}’Sl"/'
o - L g 2 = & -
' - - e * " If"" ] * | 3 " Lol
(g=10 m/s2 oS Pre_wd ok VZ_':".I;;,*J}L. syl W) eI e len

Options:
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1
5
4
2
4
3
3
5
]
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Water is flowing with speed of 10 m/s through a pipe with cross-sectional area of
8 cm?. The water slowly descends 10 m. The pipe cross-sectional area at lower level
increases to 16 cm?2. The pressure at the upper level and lower level is (l ><IDS]T‘%H2

and (rxxms]%z respectively. The value of constant o will be (Assume the density

of water = 1000 ke/m3)

25210 ;_}g =TT ce 8 em? .}':u‘”‘h;ub/gug@fﬂféiﬁfﬁfv&g(}/}{ 10 U= F Lkl
Al (]x]ﬂs)%z ﬁ;ﬁbﬂﬁgifﬁmiﬁdéﬂ - bbok16 cm? J;fﬁu‘?({giﬁ A
(1000 kg/m? = :JCQ(JL fﬁu-'b/.)ud/ﬁgv‘éb(ﬂ & .:~-'-f— (05 Xloﬁ)%z
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A metallic bullet of mass 1 g is shot at speed of 100 ms~! into a wooden wall. The
metal has specific heat of 200 J/(kg-°C). Assuming all the internal energy generated

by the impact remains with the bullet, the temperature change of the bullet is

S el ety s S A e 8 100 ms ! e U 12 S8 Sk Qs f
=788 S OIS b g e SIE 200 S 2 S PR e 200 Ji(ke-"C)

# L.

Options:

25°C
40° C

200° €

e @
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Question Number : 98 Question Id : 751236537, estion Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Ori : Vertical

A steel wire of length 1.5 m and 3.0 mm? cross-section area at 30 °C is held straight
(but under no tension) by attaching the ends to two walls. The coefficient of linear
expansion for the wire is 1.0 x 107 / °C and Young’s modulus is 2 x 10! N/m?.
If the temperature of the wire is decreased to —10 °C, the total tension in the wire will

change by

sty oA 5 tf,-_,"f )JLIJ/H_/.JL:’L:.:.:’Lué{;j;jl}u‘b 3.0 mm?* £30 Cald 1.5
-2 % 101 N2 Y Kby e 1.0 x 105/ °C o 2K E ISt A bl o
ST e F AL e B E—10°C S Zond b1

Options:
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[30 N
B

330N
3,

80 N
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Question Number : 99 Question Id : 7512365379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A diatomic 1deal gas i1s compressed adiabatically te = of 1ts nitial volume. If the
A

initial temperature of the gas is T, (in Kelvin),andvthe final temperature is oT,, the

value of ‘o’ 1s

= = = ; -~ # : i .-"rl. .-f? x4 g
BT L — e fuimir_,ﬂc 72" ) (adiabatically)! s a7V s S (= 1ss ok
- - . 32 Lol -
.'f; |"’ ‘: r”.; -_~“| }ﬁl . .L’J/ 1 -
~prlic@e o o, =720 (o ske )Ti = 72 A
Options:
%
>
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4
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An air bubble of volume V" 1s at the bottom of a lake of depth “d’, where the
temperature is T,. The bubble rises to the surface, which is at a temperature of T,.
Assuming that the bubble’s air is at the same temperature as that of surrounding
water, the volume of the bubble at the surface is

(Let Py is the atmospheric pressure and P is the pressure at T)

-E)’Ji%hq_Tl ;'JI"?‘?J""‘-“ILE:‘L'-uﬁﬂgufut{'gdb&i:d%'d’ij:...-gll.(fﬂllf;'df:;i‘vl”
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Options:
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Two identical wires with equal tension T have fundamental frequency 900 Hz. The tension

in one of the wires is increased by AT in order to increase the beats by 9 beats/sec. The

; AT
magnitude of Fa

et A b b3l ATURSEL bl << 900 Hz SE S Unbnd _TSEULE
v Fedl E AT .o b .Q o
x| magmtude? 3 i..-uuf?/-ﬂ:u..,/g

Options:

0.01

0.02

0.03

0.04

Question Number : 102 Question Id : 75123€{3382, Qu&etion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Crientation : Vertical

A sinusoidal wave of wavelength A has a speed of 350 m/s. If the phase difference
between two displacements at a certain point at times 1 x 1073 s apart is 7 radians,
then the value of A is

e

ﬁ-ﬂ_. ny < ol - a‘_iﬁd}fi%ﬁt};' ;jf . #*(sinusoidal) L»f" a0 -—Lfdl'i,f %0 A
e d I o e e b st 1% 1073 s G6k pylpnd =l
Options:
40 cm



90 ¢cm

S

110 cm
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70 cm
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Question Number : 103 Question Id : 7512365383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A converging glass lens of 40 cm focal length in air is immersed in water of

refractive index 1.3. The change in focal length of the lens is (Assume n, = 1.5)
1) €l

- ~

# - w & * . -~ & & O P . - e b "
V1= L3R 0Lz k) 1.3 S w6l EE W13 2E , Jb L 840 Ay
( n

/1.5 S AP Ll e i

flass

Options:

90 ¢cm
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In an interference experiment, third bright fringe is obtained on the screen with a
light of wavelength 700 nm. The wavelength of the light source in order to obtain

fifth bright fringe at the same point on the screen is

0L g PSS o r g FIE B § A S G2 St 700 nm e FFiIL

-
i

U EL Gl LSS My f Ly

Options:

S00 nm
420 nm

o)
630 nm (\/QN

A
750 nm C)Q/
S
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Consider a horizontal sheetAvith/charge density 5 x 107% C/m2. A particle of mass
8 x 107° ¢ is dropped from a certain height onto this sheet. The number of electrons
that should be removed from this particle so that it stays close to the sheet without
falling on it is

[Assumeg — 10m/s? and —— = 9x10° leC_z]
4rme,

SbLln 5L ad 8 x 106 g _gE JB¥LE L1005 x 106 C/m? AU T
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Question Number : 106 Question Id : 7512365386 Question Type: MCQ, Optigh Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
A non conducting wire is in the form of circul%(c of radius R as shown in figure.

The two ends of the wire lie on x-axis ang is respectively. If the uniform linear

charge density on the wire varies as p(6

will be Q/
(Assume V=0 at infinity} %

Vi 25 y /3 L x AU Ind Cee oS ;df s ;_,{/53»._&-5’ R. C‘L,V}‘/;; »..L:L._ “Lf.l, L&ﬂ:u‘f f’" ,J/L:f’

, cos@ . the potential V at the center "0’

H@ry/\f aﬂgu:()‘?}._;ﬂ;&ﬁf,ﬁ*‘c}ﬂ p(8)=p,cos6 @ﬁa;g;fﬁ,-ufwfﬁ
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Question Number : 107 Question 1d : 7512365387 Question Type: MCQ Cth ‘on Shufflmg Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical .

f"pO‘in‘rs A, B and C as shown in figure

Six equal resistances are connected between )
below. If R, 5. R, and Ry are I‘ESiSTElIlCEQ béﬁveen pomts A-B.A-Cand B -C

respectively. then correct option is

LB-CulA-CA-BLES myf_c,r;fB A LB AL FES S AUt oladte

Options:

4"-“’352“-.*? len P UV Ry 41 Ryp, Rye o Aol

RﬂB " R&E.‘



Rpc > Rye » Ry
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"'\-\.\1‘
Rag ™ Rpe @ Rye
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The current 1 in the following circuit is

210 T - 7 F"
-...'~L__|,:. IS -’JdJ:U“-‘J-)-:’{;U,,J

10002
WA/ -
e
V= 5=\ T% 250
|
Options:
=
35
1.
2A
35
Z.
=4
35
=
B 4
35



Question Number : 109 Question Id : 7512365389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two infinitely long straight wires carry a current */° in the direction as shown in the
figure. For a proton of charge ¢, a distance d away from the wires and moving with a

velocity ‘v' along (- x ) direction, the magnetic force on the proton is

-

kel d e U ,;que,,-b’g g -t el s e FEE S s ) S
=y~ l.«ﬁ"gfri.)url *;L;/_Jfﬁ'bi. v ;L—"ng...«f (—x) sl
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A galvanometer having a resistance of 8Q is shunted by a wire of resistance 2Q). If

the total cuirent is 1 A, the part of it passing through the shunt will be

;:;‘_IA h_.{fgrf/ r_-t-'folj-.-f-'V’,.?/'JJL-JLH-J_. fjé”_n..a’/ 20 -’/"'v ¥ |,~I l)_isc”_,rJF/S Q
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Consider three coaxial cylinders of infinite length. The mner cylinder carries current
of 3 A in the upward direction. The middle cylinder carries a current 5 A in the
downward direction and the outer cylinder carries a current of 8 A in the upward
direction. The magnitude of magnetic field 10 cm away from the common central

axis of the three cylinders is

c} - '* - .‘Jt
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Consider the inductor arrangement shown in figure. @uivalent inductance of the
arrangement between the points A and B is &

«di‘fk';.:""JLW!L”&'.VJ-*LQ&@%'&?W;e—.:’"ﬂff&'u’i'f;@/':ﬁ
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Question Number : 113 Question Id ;: 7512365393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
An inductor of inductance 0.2 H is connected in series with a resistance. a

; - 1 : :
capacitance and an AC source of frequency—x10*Hz . For what value of capacitance,
b

the current will be maximum in the circuit

| -~

158 ACL_Js "‘?/—xlﬂ Hz sl S e P LI e L L0 L 02 H
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Options:

1.25% 108 F
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The electric field in an electromagnetic wave is given by E=E,é. sin(ky — or) where

—

k = k.e, . The magnetic field is then given by (¢ , é,, é. are unit vectors along x, y and

z direction and ¢ is the speed of light)

G-t L s A b=k e, - L/”J-" (6 E=E,é,sin(ky - wr)u-u!‘uﬁwu«
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A parallel beam of light is incident normally on a perfectly absorbing surface. If the
force exerted by the light beam on the surface is 2 x 10~7 N in 10 nanoseconds, the

energy of photons hitting the surface is

LJJLVL» JJH zC/’ ;:; fj WLJY“J&QUL, ...f,wf.:}l’ul'{.l.' h"uﬂ“"...t'dx}’
J/J’ J L'*Zfi B2 x 10T NUEEEE 10 = ur,-a_wlj

Options:
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400 nJ
3
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Assertion (A) : As per Bohr’s atomic theory, the e@ns revolving around the
nucleus do not radiate energy.
Reason (R):  The angular momentum of Q@nﬂ electron is quantized.

O

LSRG AL i SN 0Ly fsralns () 6h
52 - 4 r
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The correct answer is &
P
R
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).

....;“_u:’m_,({A c{R)Aru?‘"u; J(R).4I(A)

Both (A) and (R) are true but (R) is not the correct explanation of (A).
,._ufﬁ;' i £({A) r{R)g,-"L'JL,E’_*:.ﬂf;;g_,,')}:;(R)Jﬂ(A}



Only (A) is true.
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In a decay process, given below, a nucleus X decays into a nucleus Y. a beta particle
and an antineutrino. X - Y +e+ 0. If the atomic mass @( and Y are 175.942694 u

and 175.941420 u respectively, then the maxin?\/@( netic energy of beta particle

A

e

ee g o s daE S Lushhssbeta Llae\Y 2 Y L X JJ’LU’{%,JME’T,;.;;
< 175.941420 u ! 175.94@;5 IS YN X K5 Y +etb
,@ Ny s S5l de3ts

(lu=931MeV/c? S /P)

will be closest to (Assume lu= 931MEV/C2)

Options:

0.98 MeV
8

1.42 MeV
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1.32 MeV



.18 MeV
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For a transistor amplifier in CE configuration, the change in collector current and
base current are 1.5 mA and 10 pA. respectively. If the collector load resistance
R, = 10 kQ and the input resistance R, = 2 kQ, the power gain of the amplifier is

ﬂlwmA,QnJﬁmbmnsvuLLMkfbﬂgﬁijb*ﬂ~~4nxi*fJ ~¥CE

=

SIS TIR, = 2 kQee 2l pe il Ry = 10 kQue?l 2 3960sI v /e 10 pA
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Options:
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56250
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. 9000
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In a standard half wave rectifier circuit using pn junction diode, if the voltage i the
secondary of the transformer 1s 12 V (a.c.). the average voltage (in V) output from

the circuit 1s

J-| "
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Single Line Question Option : No Option Orientation : Vertical

The heights of the transmitting and receividg antenna respectively are h; and h,.
The radio horizons of transmitting and 1'ec@1¢ antenna respectively are 16 km and
86 km. Identify the correct option. ( s of the earth = 6400 km)

C); IJQ,}_ JEUs U,;'lai@!":ujfnxl%g‘_/hz » hy /‘%J[{'ﬂd”u: I.'»f"oﬁ’ﬂﬂyle'J J_/ffﬁ
Héﬁﬁﬁ@;:u‘f;lb?g%};qﬂgﬁ% 86 « /b'f:b/l()....;ﬂ‘.
(5 6400 = FadE))

Options:
hy=20m, —l=2
hy 2
1
h 2
hy=30m, ==
13



h, 3
2 L
h,=20m, —==
= h
2
4,
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 7512365401 Question Type: MCQ Option Shitfling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The amount of energy required for the conversion gf ¥ o H™ is 13.6 eV. The amount
of energy (in V) required for the conversion offHe ¥to He*" is

edul’s -
Y . -~ i g ; 2 = (’( e | o -~ i " Fd
.-'fui.b’ig..i.f'vfguﬂHeH!(HE'~;J5'5J1.1#13.6 e\-*uQL':'.’L.;_;.J'VthH +H

=

~OsEn(ReV) e

Options:

272
1.

40.8
=

54.4
=,

81.6
4,

Question Number : 122 Question Id : 7512365402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



“No two electrons in an atom can have the same set of four quantum numbers

statement 1s

il €5, ’ k] e
b e - 2y ) AL 313 Z

Options:

Heisenberg’s uncertainty principle

particle-wave dualism of de Broglie

ce P JuskE s

Schrodingers wave mechanics

;;f&:**’“fub

Pauli exclusion principle

S8

Question Number : 123 Question Id : 75123654(53 Question Type: MCQ Option sShuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Which of the following represents the correct order of ionic radu?

_.«;L
Options:

Mg®" <F~ <Na® <0* < N>

Mg?* < Na* < 0% <F"<N*"

-~ £ i
Lo L6061 A1

(jonic radii L,Fia_ J"J';

. This

(atom) ;74§

Yes



Mg?* < Na* <F~ <0 <N*

Mg™ < F~ < Na"< N'"<0*"

Question Number : 124 Question Id : 7512365404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The atomic number of the element Unnilquadium is

~ 248 £ 6 Umnilquadium ~<*

Options:

102
1

108
z.

114
=,

104
4,

Question Number : 125 Question Id : 7512365405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The type of chemical bonds present in “CuSO,-5H,0™ are

_..-;JL‘;L:-.L_|"'if‘yu({chemical bonds)_4: L,'*‘L;‘.:WJ:CUSOlSHzO

Options:
Covalent: Co-ordinate covalent

sy £ ._-:3;(3



[onic; Covalent

=
LI |

=l ¢ U

|

[onic: Covalent; Co-ordinate covalent

=Pk e

lonic, Covalent, Co-ordinate covalent : Hydrogen bond

S P\ ks AL S A

' >

Question Number : 126 Question Id : 7512365406 Question Type: MCQ mefling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following molecules, the ce%’ﬁ\:tom has expanded octet?

o

-« v (expanded octet *uwmﬁzdﬂ}ufd.w{;&bw.ids
a)  SCI, Q/v
b)  CO,
¢) PF, &%
d  H,S0,
e)  BCL

Options:

b.c. d



b.d. e

4,

Question Number : 127 Question Id : 7512365407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Density of a gas at 27 °C is 5.46 g dnr? and the corresponding pressure is 4 bar. Find
out the density gas (in g dnr?) at STP.

* = - - =

(Urg dm3) U U=, STP-cib4 SLa§5K UL 5.46 g dm > =slu=f1,27°C
L |
LS
Options:
6
1
1
2.
3.0
=3
1.5
4,

Question Number : 128 Question 1d : 7512345408=Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
For a van der Waals gas

J 2L s
s'.—-i.u"g_,; 2731

a=45atmL*mol 2 b=09L mol™

(Vc =3b: P, :Lz; i ta ' mol "]
27b 276R

Its critical constants T, . P. and V. respectively are approximately

- 2 ‘s"'-;r ey
- VC yIl TC ’ PC - r.niv ""’

“

Options:



_18,02,2.7

27

4.

,1,22.4

s

Question Number : 129 Question Id : 7512365409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the approximate amount of Pt (in g) in 1 g of Mn, q‘sptnaso
[Atomic weight of Mn, Pt and O are 55, 195.0 and 16 respectively]

- (Ut G AT VA1 g £ Ming 5Pl 50,
[&55, 19%0 J6 <L is 28 M, PLO ]

Options:

0.20
1

0.15
2.

0.1
=

0.25
4,

Question Number : 130 Question Id : 7512365410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The label of a H,S50, bottle shows 1.4 g e as its density. Calculate the molar
concentration (in M) of H,SO 4 (Molar mass ot H,SO, =98 g mol-1)

15;35;-_3( SM)EL U EH,SO, ~Fusl4 g onr3 =3 WL Sd H,S0,
(}'L*_QS o moi—lcaaéllf’d H,SO, )



Options:

5.0
1
14.0
2)
13.28
3
14.28
4,

Question Number : 131 Question Id : 7512365411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct for first lav of thermodynamics?

a)  Energy can neither be created nor be destroyed, in’ an isolated system.

b) It is impossible to construct a perpetual motiojymachine.

c)  The total energy of the system and surrodidings is constant.

d) Internal energy of a system can not _Be/increased by performing work on the

system. |

,’3‘ - -~ . "'J_
$ 9 TVE u'!“' ’i”l L (thermodynamics e 75,17

PN 3 ) U g Ul 9 (JU 'u~’W]ﬁJ’JJ (a

& -
ey oy CESAE (O

i e Y e P »
- dxuwu t l!gﬁ_ﬁ:}u I Jlnlrl (c

e

Iy y,..,.,uu LuJ’hJ el J‘f;rwl (d

Options:
a.b. c
1.
a4 bt



Question Number : 132 Question Id : 7512365412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following reaction(s) : K, = Kp"?
? Ko = Ky U ) JEE L
i) HyO,+Cpy = CO,) +Hyy,

g g

i) Hy,)+1y

g g)

= ZHI{g)

g

Options:
(1), (11)
(111)
(111). (1)

(11), (1v)

Question Number : 133 Question Id : 7512365413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Calculate the pH at which Mg(OH), begins to precipitate from a solution of 0.1 M
Mg**? (K, of Mg(OH), = 1.0 x 107, Jog 5=0.70)

-2+ Mg(OH), 4 pHU = J#L0.1 M Mg
(K, of Mg(OH), = 1.0 x 1071, log 5 = 0.70)

Options:

9.0

LN
fad

10.0

8.0

Question Number : 134 Question 1d : 7512365414 Queﬂioh lfy,"_é": MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : \(exficai

What is the formula of the ion fermed., on addition of calgon to hard water

= e, . g :
+,.!%+u5’u e L(ion)Uhafie U 'e calgonx(hard x&-'atel')ug;jf-({
Options:

[Na,M PO ]
[Na,M PO, ]

[K,M PO ]



[K,M PO ]~

Question Number : 135 Question Id : 7512365415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sodium nitrate decomposes upon heating to give sodium nitrite. What is/are the other
product/products formed during this process?

/ -~

Qr"{_.ffl?u”ﬂ*&uvu -.--c_. fb-.-rf"kf/‘fﬂj._.g)!‘ "‘;-_f’l"‘llu_-’..,"Lr/*“

d
Qu_?.l”_ y g:; s Lf_:.i") s f;}’r.:,‘ 22

Options:

NO, O,
1:;

NO, , O,
2.

02
=3

N,,O,
4,

Question Number : 136 Question Id : 7512365416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are X and Y respectively in the following reactions?

()4 : co
X+ H,0«—— diborane - > Y

Options:

H,BO,. B(CO),

1.



_H;BO;, 2BH,.CO
_ B,0;. BH,(CO),

B,O,. 2BH,-CO
4.

Question Number : 137 Question Id : 7512365417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): SiCly is soluble in water, but CCl, is not.
Reason (R): d orbitals of Si facilitate the reaction with H,O

- o * £ ‘ .
— U CClygre rh JURGLSICl, (AN
g b SeA L orbite is;.»_..fudjim (R)

The correct answer is
o
B, &G

Options:
Both (A) and (R) are LDIIE‘L{ ul' {R) is the correct explanation of (A)

v, 2, £/,
GBS (A) (Rl H 0% S(R)4I(A)

Both (A and {R) are correct, but (R) is not the correct explanation of (A)

(T ZIGS (A) R}fu*uu J3(R)4I(A)

(A) 1s correct, but (R) 18 not correct

- .(;"?
*{Fﬂ - -

Both {A) and (R) are incorrect

*—rL.r*u{aLJ-E”(R)J!'[A)



Question Number : 138 Question Id : 7512365418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.

List - 1 List - 11
A) Particulate matter I) Organic matter
B)  Ozone hole II) NaClO,
C)  Pathogen III) Smoke
D)  Chemical Oxygen Demand IV)  Water pollution

V)  Chlorine free radical

‘el E‘;J

0o f I _erf
sbdlet (@ wlidus (A
NaClo, (I Jresist (B
J# (T0 (patfiogen)d_ s /rf,.«,; ke  (C
ST av AF 0 @

uééfdjof &

The correct answer i1s
R

Options:

A B % D
Im Vv IV. 1



A B 3. D
| HL v 4

Question Number : 139 Question Id : 7512365419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The IUPAC name of the following compound i1s

S /PCTUPAC 6L} 3G
CHO
NO,

OCH,

Options:

4-formyl-3-nitroanisole

1.
3-nitro-anisole-4-al
2.
3-methoxy-2-formyl 4itrobenzene
=
4-methoxy-2-nitrobenzaldehyde
4

Question Number : 140 Question Id : 7512365420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The name of organic compound C,H, that produces carbondioxide, ethanal and

methanal upon treatment with 03 followed by reduction with ZH/HEO 1S

ffg’LfTijgEJb/u;L,::&fi/ Zn/H,0 :_.ufu'fx';'_.J%Gc,OBérUKCLiHﬁ _'fo-&‘L:‘[:Jl
:."_. t’.;;..f:. U' l;—ﬂ.’}ﬂjlul l;,.ﬂ?"l

Options:

Buta-1. 3-diene

Buta-1. 2-diene

o
Cyclobut Q\'
yclobutene v

But-1-yne @
4

Question Number : 141 Question Id : 7512365%:1$ti0n Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ot izn : Vertical



Which of the following systems are aromatic?

. i > /-/ -
-(/f(aromatic) /‘"’:’ e s uf 2

)

A) -H

N\/:N
B)
_l_

@ &

©)

D)

o] |

Options:

e 5

W

A D

B.D

Question Number : 142 Question Id : 7512365422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List - I
A)  Polar molecular solids I)
B)  Ionic solids 1)
) Metallic solids [1I)
D)  Network solids IV)

List - IT

Positive 1ons m a sea of delocalized
electrons

Covalent bonding

London forces

Dipole-dipole imteraction

V) Coulombic or electrostatic interaction

5
i O

| [.erf
(fons)Msnzd i L ML 2 e (I UCJJLJVJ?; (A
(covalent bonding)x; = ;:..L - (II JPUl, (B
uf fgd JEA  (C
ST 3 IV Urlser (D

L;:, LG <LCoulombic  (V

Options:
A
1 IV

The correct answer 1s

B AL

B C D

<
—
—
—

=
-
=

2,
A B C D
I11 I V IV
3
A B C D
V IV I11 I
4,

Question Number : 143 Question 1d : 7512365423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



The vapour pressures of pure heptane and pure octane are 92 and 31 torr, respectively
at 40° C. The total vapour pressure (in torr) of a solution containing 1.00 mole of
heptane and 4.00 moles of octane is

EZ K P 1L torr 3181922 5LsK 5 octane P heptane U2 6. 40° C
o =S v P L

~UnJroctane 4.00 syl heptane 1.00 6w L_,;'/( J~torr)i b L

Options:
18.4
1.
24.8
2.

al.2 &
; O((/

Question Number : 144 Question Id : 7512365424 Questi %e: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation,;

A plot of Vapour Pressure (V%%wo component system versus composition 1s

given below. The correct pai&r and x, is:

IR 76 iy %y w2 st 5596 (VP )il,::.«blkéy.ﬁ@#&'ﬂﬂ‘kﬁidii’fu

V.P. of
Solution
i
=
-
Xi= 0 mole fraction  x, =1
A=l X, — x=4

«— X

Options:



e 1'1—(?61-114 DXy = 1’1—C?H16

I
1.
w=CH. 3 p»=CH U
2
_ %=CHCl, ; x=CH,00CH,
%= CHOH § 4= CHC00H,
4,

Question Number : 145 Question Id : 7512365425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct unit of the slope given in the following plot #or Hie strong electrolyte is:

1 0
[a = (concentrati{m)i ,b = molar conductivity of solutior\ ,’,y|:v~

)

- J L _ - - .
QU J?’é’u;‘ilﬁ’jsj_r’_ﬂu .L. ‘ny’LbuﬁﬂriufJ

Options:

7
S cm® mol
1

(molL7")2




Sem? L
1

(mol)2
z.
S cm?® mol™
1
(le L_')E
=
S cm?® mol™
(mu] L_])2
4

Question Number : 146 Question Id : 7512365426 Question Type: MCQ Cpt on ohufflmg Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a reaction, X +Y —» Product, the rate of tl*e eacnon changes from

1 x 103 mol L' s7! to 2 x 1073 mol L~! sy wiHen the concentration of Y is doubled.
The rate of the reaction reaches 8 x 10-3\mof ! s~! when the concentration of both
X and Y are doubled. The rate law fogthareaction can be written as,

-

=1 x 103 mol L s—lz,,,f‘u%;_,ﬁ<;~_‘t4g; L Yoo X+ Y bl (SIS

LASUSE T bl LS W GINC Ui Y st X - e Bl Ja U2 % 1073 mol T s
‘._L)'L?Lv‘-’ /L'Jl:‘/ *"‘"L.L,/Lf 7y *._dwf 8 x 103 mol L-1 571

Options:

Rate =k [X] [Y]*
Rate =k [X] [Y]

Rate = k [X]* [Y]



Rate = k [X]° [Y]'

Question Number : 147 Question Id : 7512365427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following correctly represent(s) Fruendlich adsorption isotherm?

-
- ' e ¥ | sb/_' o

P e e - . . - * r- H ¢ ol
i e S8V B (Fruendlich adsorption isotherm) b feib (5 U741 AUt s

’T‘l E g TI
T, T,
a) x/m T, b) x/m T,
T >T,>Ty T T,<T;
P P
X 1 X
c) log - d) g5
log p log p
Options:
a, d
1::
d
z.
a, C
3.
b. c
4,

Question Number : 148 Question Id : 7512365428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following gases is responsible for making blistered copper?

f

..._.-‘}L?VVL("W’UHVJL (L-LJ[—J’[L; L.,L,UJ VPJ

Options:
cO
1
CO,
2.
SO,
=, =
SO,
4,

> “

Question Number : 149 Question Id ; 7512365429 Question Type: M(,Q Optlon Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ;

What is the formula of the compound /im&f‘n;md on adding Fe2* solution to nitrates
in the presence of conc. H,SO,? L Q

_a_u,fymw;_wd"bl m_f/;ff_J-JvV Fe2+ At #o Ut oz S H,80,5,

Options:
Fe {504 }z
1
[Fe (H,0)¢]**
Z.
FeCl,
=3
[Fe (H,0)5 (NO)]?*



Question Number : 150 Question Id : 7512365430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following compounds undergo disproportionation reaction?

_pl TesL e o5 Ve LL'-’J"::- uf 3
a) HSPO 3
b) H.PO,
c) H,P,0q4
d) HSPC) Y

Options:

a.d

Question Number : 151 Question Id : 7512365431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List - 1 List - II
A)  Manganate 1on I Bond angle 126°
B)  Permanganate ion II) Covalent green
C)  Dichromate III) Paramagnetic
D) Mn,O, IV)  Diamagnetic
V)  Tetrahedral
ey f‘:’

| P |
126°_iesS (@
e ff @ Sbesfy, B
(I e tBs(C

o
.l"./ti | T
L Vi Qv

5z W

The correct answer is

Al '.2 —d3
[ -

Options:
A B L D
I 111 IV II
1.

A B £ D
IV. I I I

m IIv 11 I

A B S

w

Question Number : 152 Question Id : 7512365432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The formula for the compound Hexa ammine Chromium (I1I) - tetrachlorocuprate (I1)
1S

_g-;_Jz;Léb’Hexa ammine Chromium (III) ~tetrachlorocuprate ( II}....r'}

Options:
[Cr(NH;)]5[CuCly],
1.
Cr(NH;)CuCl,
z.
3 [Cr(NH;)¢],[CuCly],

o
Cr(NH;),,CuCl,, Q’\f

4 &(1/

Question Number : 153 Question Id : 7512365433 Question Type: Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

S
K2



Match the following.

b,

A) Melamine
;_vff bl

B)  Glyptal

-
&
5

C) Bakelite
=1

D) Buna-N
-ty

The correct answer 1s

e e

Options:
A B C
1 |AY 11 [II
A B C
<A W W
A B &
\Y 11 Il

D
1)
I1I)

V)

V)%

—

CN

I
FCH,—CH=CH-CH,-CH,- CH1,

-+ HN.__N

-

T

I
N
1*|~JH

NH-CH,

O

4 OCH,- CH, 0

§ &

C,SHq

CO-)—

n

{CH2 —CH}H



1| I Y

o

Question Number : 154 Question 1d : 7512365434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct for anuno acids?

A)  Anmuno acids form Zwitter 1ons.

B)  All naturally occuring amino acids have D-configuration.

C)  Complete hydrolysis of proteins leads to the formation of amino acids.
D)  All o-amino acids are optically active.

I/ . | e i e, 2
-_-a:_. :'H,J)L:-"IL‘:L"CJ! Kuf"ur:"‘—-ii"’—- .,‘_,'}"/}"’.."
~UREL oL Zwitters #2 (A

-5 f&(;u&ﬂ D-igm2s 7 F:L?Lk{ﬂb L,E}J,-E (B

e

-

> Sl e DT HRE 4
JYUFL'.I JB};—-J’.—‘"'V-‘&“' ! VW“"

1 st
—
M

L=
V(& n Je$ Pl 28 a-

S
—
c

Options:

A, C

1.

B.D

2.

A,B, C

i

2B, D

Question Number : 155 Question Id : 7512365435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (a): Antiseptics kill or prevent the growth of microorganisms and are
harmful to human tissues.
Statement (b): Tincture of iodine is an antiseptic.

oot ZURGULIr L ad FASuna & P nd e G @) ok
H..s_._ﬁv” ‘H'_f/cl&’u T (b)) Yk

The correct answer 1s

PP =
Options: g
Both (a) and (b) are correct. '\/
% S
- O S (b)asl(a)

Both (a) and (b) are not correc @CJ

q.wuf(f,uﬁ*[b)ﬂf
o5 Q/

(a) 1s correct but (b) 1s ’@correct.

e -
e
= G b}l,_,“'-—-u (a)
3
(a) 1s not correct but (b) 1s correct.
= . o
~+f}' b)Y K (a)
4

Question Number : 156 Question Id : 7512365436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Find the correct variation for the following compounds with reference to their bond
length and bond energy respectively.

- , - .
' ot s * T o [ T et |
U5y L"Jd/ JVog G MRS 'y'j’u_. Sl d I Je FJJ_“'.J/lJJ‘JJ"?:.J/I L,E:_ i.,.,f/-' L

) CH,-F
) CH,-Cl
) CH,-Br
IV) CH,-I

Options:

I<H=H<IN :I=0=llI=1IV

L.
[>0>M>IV , I>OI>M>1TV

24
IHEM<IV . I£H=1011%= nr
[>T>M>IV |, [<I<IESTV

Question Number : 157 Question Id : 7512365457 Cu&stion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Qfragtation : Vertical

The correct order of basicity of oxygen atoms present in the compounds W, X and Y
IS,

H,C CH,
‘ [ ) )
L{)J o) 0
(W) (X) (Y)

Options:



Y5> X>W

1.
EW}X}Y
XsWesY
=
X>Y>W
4

Question Number : 158 Question 1d : 7512365438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one among the below gives an iodoform test?

- - il
() '.' l-| - 1 g = L .
bt /e iodoformetye U ) 302

Options:

e
o
o



CHO

Question Number : 159 Question Id : 7512365439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following reaction can not produce benzoic acid?

" - .' i i r H
/g dbenzoic JW e JE U

Options:
COCl 8
1 ‘::];5:‘
O/CHO 1) CondSNaOH, A
> K2
CH, - CH, - CH, 1) KMnO,—KOH/A
U ) HO'
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What is the product ‘P’ in the following sequence of reactions?
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